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Cala (H-nolenimex3

1. WH ST p(x) TF TR B p(x) F (x-1) A 4. WH AN x F y THfas g 8| gdE qemn

W 3 R 2 AYRA F9d1 &1 plx) B (x-2)
¥ YR [ W 1 IEA w9l 8 plx) B

20 4 ¥9 W UHR ? fF x, Yy, x+y HAX
x—y@lmﬂﬁ'@ﬂﬁl(x, i Xt Tx—1Y)

(= 1) (x —2) ¥ 9PT 3 TR F1 IS F=77 % T8 fopad d=a Gy &7
(@) 3 (@) TH

(b) -3 (b) A

() 3-x (c) W

(d 3-2x (d) H§ ot 7

2. frft o awafis dEm x & wef # 5. AR (x+)(x+px2+p2)=x?-1 %, A

fr=afafes w fomm Hifse . p 1 HE 1 RY
L x+l>1 @il

o (b) 0

¢ © 1
1I. (x+;] >2

(d) Truifa =& e s gea

14
III. (x+—) >9
x

6. 3R R+YFFrEe-B) =2 ¥ W

I # A FH- g &7 (2 ++/3)* - 2-+/3)* Toras =R 87
(@) FaA1d 1 (@ 0
(b)) FEA A I (b) 0-5
) ¥aA137 11 fe) 1
(@ 1, IaM e).
3. W ¥ p T g (g> p) THRSF wEATd & e é*_;i:%“"“ a%*“b%g @
g’ -5p-4 ® TS BN F fow p w T A -
Te 91 HE 1 7 a® »?
(@ 3 (@) 31/216
(b) 4 (b)) 35/216
) 5 (c) 37216
(d 6 (d) 41/216
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1. Let p(x) be a polynomial. When p(x) is 4. Let x and y be natural numbers,

divided by (x-1), it leaves 2 as the each less than 20, such that x, y,
remainder. When p(x) is divided by x+y and x-y are prime numbers.
(x-2), it leaves 1 as the remainder. How many such combinations of
What is the remainder when p(x) is (x, y, x+y, x—y) are possible?
divided by (x-1)(x-2)? @ Obe

(@) 3 (b) Two

(b) -3 (¢c) Three

fc) 3-x (d) None

(d 3-2x

5. If (x + 1)(x+ p)(x? + p?)=x* - 1, then what

is the value of p?
2. Consider the following in respect of a

positive real number x : (@) -1
L ket ) i
x
: ¢ 1
1
IL. (x +;) >2 (d) Cannot be determined
4
111 [x+l) >9 6. If 2++3)" +@2-+3)X =2, then what is
X

2++/3)* -(2-4/3)* equal to?
Which of the above are correct?

(@ O
(@) 1 and II only s
(b) 11 and I only g
(c) 1 and I only e
(d) 1,11 and III
3. Let p and g be natural numbers such His §+%=g " ;15+315=:13_3’ then
that g > p. What is the largest value of wiatie 3¢ A _}_ A
p such that g% - 5p-4 is negative? a® b3
e (@) 31/216
g (b) 35/216
9 3 (c) 37/216
s (d) 41/216
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8. x® & x2 +1 ¥ WM ] W AvHA =T 11. (17%° +1925) % 18 ¥ WM A W 1 A9Fa

T=m?
(@ -1 @ 0
) 0 ) 1
© 1 (c) 3
d 9
[d x+1
3 3
12. x 3R y FHCF, HRl p=—* ¥ 3
X< -xy+
9. (x+2) Frfafa # & frgem TmEs ?7 P e
=—X"Y ¥ HCF % wed #
B x2+xy+y2
N - A
(@ x°-4x" -3x° +8x“ -14x+12 PP oiticie P SERND

. pd qF HCF, H? 9% 2|
(b) x5 +4x% -3x3 +8x2 -14x+12

1. pd g% HCF, 2H 8 &%l gl

() x5-4x*+3x3 +8x2 -14x+12 ST Fol A A F-T/A T R/
(@ ¥&E 1

(d x°-4x*-3x3 +8x2 +14x+12 (b) Faa 11
(c) 1313

(d IdIRIA I
10. 7R log; 2 = 0-301 1 log;o 3 = 0-477 ¥,

A 6060 1 1 G ?
6050 % yar & 37t $it e w= R 13. IR x* = x2 +1, 5 x> 0%, A 2xt Prad
(@) 105 B
(@ 2++3
(b) 106
(b) 3++5
c) 107 (c) 5-2J3
(d) 108 g
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8. What is the remainder when x©® is

divided by x? +1?
fa) -1
(b) O

fc) 1

d x+1
9. (x+2) is a factor of which one of the
following?

fa) x%-4x*-3x3+8x2-14x+12
(b) x° +4x* -3x3 +8x2% -14x+12
(c) x° —4x* +3x3 +8x2 -14x+12

(d x5-4x%-3x3 +8x2 +14x+12

10. If log;p2=0-301 and log;, 3 =0-477,
then what is the number of digits in the
expansion of 602 5

(@) 105

(b) 106
(¢) 107

(d) 108

ANFB-T-EMT/45A

11. What is the remainder when

(1725 +1925)

is divided by 18?
(@ O
(b) 1
g 3
(d 9

12. The HCF of x and y is H. Consider

the following statements in respect

3 3
of the HCF of p=—= Y _ and
x2_xy+y2
U 38
LLE 2"
xy+y

I. The HCF of p and g can be H.
II. The HCF of p and g can be 2H.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 11 only
(c) Both I and II

(d) Neither I nor II

13. If x* = x2 +1, where x > 0, then what is

2x* equal to?
(@ 2++3

(b) 3+5

(c) 5-2J3
(d 3-5

[ P.T.O.



14. of P9 _ r+s; (@+9#0, (s+p)#0 %, 17. WFﬂﬁQx=n(n+])(n+2]ab',T'lET n U6 99
q+r s+p s wen 31 fefifes w § R
@ fr=fefiaa & & #F-w & wd 27 FH-T1 /4 |l 2/27

I.  x¥d 48 ¥ fawifv@ & 2
II. x2 9&q 144 9 e & )

(@ p+gq+r+s=0

e #= fi g 2 w1 wEm = I g
() WA p+g+r+s=0T p=r L
(d) 3 & | g T (b) ¥ 11

(c) 13113

: (d AMIARIA N
15. W nyFFE TN 7AFE, A nF

M 6 wew feadt B, Rme g (12n+2)

AT (8n + 1) WA 37Ty deATd §7 18, 2 iR st < g o
x%y? - x3y® +1 LCM =1 &7
(@) 6
(@) x3y%(x®-y°)
(b) 5
(b) x>y?(x® - y°)
(¢ 4
.556 o6
@3 @ x yx®-y°)

(d) xy(x® - y®)

16. x3 +y® +3xy-190 (x+y)* -1 HCF

w1 87 19. TH wifST XyZ 3 3= i e 2 AW
#ifST XYZ 991 ZYX &1 3@ D 81 D H 99
(@ x+y B I 3 T 1 IEA BY
0
(b) x+y+1 (@
(b) 1
(¢ x+y-1 © 7
(@ 1 (d) 9
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S e s T (@+nN#0, (s+p)#0, 17. Let x =n(n+1)(n+2), where n is an even
q+r S+p natural number. Which of the following

statements is/are correct?

then which one of the following is

correct?
I. x is always divisible by 48.
(@ p+q+r+s=0 II. x2 is always divisible by 144.
] Select the answer using the code given
below.
(c) Either p+gq+r+s=0o0r p=r
(a) 1 only
(d) None of the above (b) 1I only

(c) Both I and II

15. If n is natural number less than 7, then (d) Neither I nor II
what is the number of values of n for
which (12n +2) and (8n + 1) are relatively 18 What'is ‘the " LCM of vx* +x2y2 +y4,
pegte x3y+ 1,.r4 and x4y2 - x3y3 ?
(@) 6 (@ x°y°(x°-y°)
oS (b) x3y? (xS - y°)
il (& x3yx®-y®)
d) '3
. @ xylx®-y°)
16. What is the HCF of x° +y° +3xy-1 19. Let XYZ be a 3-digit number. Let D be
and (x+y)* -1? the difference between XYZ and ZYX.
What is the remainder when D is divided
(@) x+y by 99?
(b) x+y+1 @%
(b) 1
-1
() x+y © 7
d 1 (d 9
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20. W T p 7 g A TFERE T T THER 23, IR x=2+2Y24+2%/2 § @ x2-4x-10
% (p+q)P*9, 512 ¥ ffm | R Toruss TR B7
(p+q) 1§ FH 7 F1 27

(@ O
(@ 4 (b) 1
(Pl B (c) 4
(c) 8 (d 6
(d 12
24, FRIPIXTVPTX _ ¢ A x s
( b]2 L Jp+x - Jp-x ’
a+ a+ bjc
A -dora P P hd—a? —ab o
p
____'____(a;:f;c}, a#b, b#c, c#a (@) e
e e 87 (b) 2p
p2+1
(@ -1/2
2
(b) O P
(e p2+1
€ 1/2
@ 1 @ 22
p2+1
22. R P =p2 §, @
. 25. Rk aafarh 5
ax(g); ?Iﬁ( 2 ]JC ( 2 )x+b 0%, _(hm
@ il F a7
a
b
[Epe—_ W5k
(@) 1 _2b_
® 1, ==
(b) ab
e
(c) b
1 2b
(d) a® i et
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20. Let p and g be two natural numbers 23. If x=2+2Y24+23/2 then what is
such that (p +q)P* 9 is divisible by 512. x2 -4x-10 equal to?
What is the least value of (p+q)?

(a) O
(@ 4 ot
(b) 6 i
iy (d 6
(d 12
,}p+x+,!p—x )
24. =
21. What is If W—JP—‘I p, then what is x
(a+b)? 2 (@+ b)c equal to?
c-dlcta+h) 2 +bc-a -ab e
2
pe+1
—{a—;?g,a#b, b#c, c#a
g ) —2P
CQII&] to? p2+1
(@ -1/2 ~
€ —%
() 0 DT+l
ey 1j2 2P2
d
(d) 1 (d) Foe

22. If a® = b%, then what is

25, If [“;b)xz - [“—;b-)x +b = 0, then what

a\b
ax[g] are the roots of this equation?
5
y @ 1
a-—
equal to?
2b
1, —
(@) 1 (b) = 7
ab
i R
2 a+b
(c) b
1 2B
d) =, —
@ a* @ 5 a+b
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26. R x-1-2, x>0 @ x2-_L fred 29. Te (25)10 # ke 3t w27
X

x2

TR 27 AR
(@ 6 (b) 2
(b) 42 © 5
(c) 4 (d) 6
(d) 22

30. TFH &N N UFR R fh smw 4, 6, 79 0
| 9P A W 3 %S9 21 3@ DR A

27. AR @-b)2+(b-c)? +(c-a)2=6 a= ;i?gzw%aﬁﬁuiaﬁaﬁwﬂmq‘mw
a’?+b%+¢2 =29 %, @ (@+b+c) Tra®
R §7 (@ 1003
(@) +9 (b) 1005
(b) +8 (c) 1007
() +6 (d) 1011
d +3

31. 3fz J2+,H2+1/2+,/2+... =cosec ®, @

5 5 sin® foFus st B7
5-2 5+2
28. - = ot s
qﬁpﬂ/§+2wq\/§—2%’?ﬁ (a}l
[-§+%Jﬁﬁa=¥mﬁ?
o 22
2
(@) 18
1
(b) 8J5 (c) =
c) 322
1
(d) 725 (d) 5

ANFB-T-EMT/45A 10



26. Ifx—l=2, x> thcn.mat is x? —-1—
X x2

equal to?
fa) 6
(b) 42
(c) 4

(d 242

27. If (a-b)2+(b-c)?+(c-a)?=6 and
a? +b2 +¢? =29, then what is (a+ b +¢)
equal to?

(a) =9
(b) £8
{c) %6

(d +3

(@ 18
(b) 8J5
) 322

(d) 72J5

ANFB-T-EMT/45A 11

29. What is the digit at hundreds place of the
number (25}10 ?

{a) 1
(b) 2
(c) S

(d 6

30. A number N is such that when divided by
4, 6, 7 or 9, it leaves 3 as remainder.
What is the smallest 4-digit number
that satisfies this property?

(@) 1003
(b) 1005
(¢ 1007

(d 1011

31; I \{;+1’2+,f2+,(2+... =cosecB, then

what is sin® equal to?

(@) 1

SIkw

(b)

(c)

-

(d)

B | =

[P.T.O.



32. 'ﬂﬁasinﬂ—cose=4,3rﬂf0<ﬁ<n/2%,?h 35. IR cotd 7% @

cosec b fFas T 27 Icoseczﬂ -sec?9
cosec?0 +sec? @
(a) 1
Toras s 27
(b) 3/2
(@ 1/2
fc) 5/3 () 1/3
(d) 2 e 2/3
(d 3/4

33.‘ﬂﬁ2tan9=sec28—2,ﬁﬁ1’o<e¢ﬂ/2%, .
@ cot 6 Frad Ter 27 36'%@“@“%%3}% H AW

%mtlmﬁaﬁwr{mw%

(@ J2-1
(@) 60°
(b) J2+1
(b) 57.5°
@ V3-1 c) 52.5°
(d) J3+2 (@ 47-5°
37. 3R wisw
34. (secO - tand)— ::22 T w27 Iog10 [998+\/x2 ~18x+76 ] =3
FMadBE, M (a-p)? ek w37
(@) O
(@) 16
(b) 2tan®
(b) 25
(c) 2sec® © 36
(d) sin® +cos® (d) 49
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32. If 8sinB-cos®=4, where 0<0<n/2, 35. If cot® = /7, then what is

then what is cosec8 equal to? 2 2
: cosec“B —sec” 0

cosec20 +sec? 8

(@ 1
equal to?
(b) 3/2 i
() S5/3 b) 1/3
@ 2 © 2/3
(@ 3/4

b 2a8.
33. If 2tan6 =sec® 6-2, where 0<6<n/2 36. The difference between the two acute

then what is cot® equal to? angles in a right-angled triangle is
% radian. One of the acute angles of
2-1
(@ 2 the triangle is
(b) J2+1 (a) 60°
57-5°
© J3-1 (b)
(c) 52-5°
d) +v3+2
(d 3 (d) 47-5°

37. If o and P are the roots of the equation

34. What is (secb-tanf)- }isfng equal
Uidien log;o [998+Jx2 v 18x+76:|= 3
to?
(@ O then what is (@ -B)? equal to?
16

(b) 2tanb (@)

(b) 25

2sech

B () 36
(d) sin® +cos6 (d) 49

ANFB-T-EMT/45A 13 [ PE. O



38. AR x* +y* = 14x2y2 2, @ FRifEs w X gl 0=
f=m Hifte 40, _X-Y U"Z Z°X oot

Xty y+z s+x o

X-Yy Y-z z-x

L log;, (x2 + %)
=log)o x +log;o y+ 2log; 2

(@ 1

I1. 10g10(x2 -y2)=logw x +logyo y

+log;o 2+ 0-5log;, 3 (b) 1/2
I A A -/ v /R fc) 1/3
(@) Fad 1 (d) 1/4
(b) FESA 11
c) 13 1I2M frfefaa &t (02) weie & fore .
. AR HH lEL psin2a+qcosza=m,

qsir12ﬂ+pcoszﬁ=n%; p#mnd g#m n.

. Frafafea % @ $R-a1/2 2
ik W 41. (E‘_".J T s 27

(3x+ y]2 +(3x+ y)(x + 5y) - 20(x + 59]2 tanf
F1/% EE ¥/%7 @ -m-ah-q
(m - p)(n-p)
I. @x+13y)
II. +19y)
g ) _(m-q)(n-p)
e fow e e 1 e W E@ I gfg (m - p)in-q)
(@) Faa 1
() (m-q)n-q)
(b) Fad 11 (m - p)in- p)
(c) 1313
: (@ (m-q)n- p)
(d AdIIARTIA I (m - p)in-q)

ANFB-T-EMT/45A 14



38. If x* +y* =14x2y?, then consider the 40. What is
following : X dogn®
xX-Yy Y-z z-Xx
L. 10810lx2+92} x+y+y+z+z+x+3

=log;q x +1log;q y+2log;o 2 EERrE-S S04

g 5o equal to?
IL  logjo(x* -y”)=log;p x +10g10 ¥
+log;o 2+ 0-5Slog; 3 (@ 1
Which of the above is/are correct? () e
(¢ 1/3
(a) 1 only
(@ 1/4
(b) 11 only

(c) Both I and Il

{d) Neither I nor II For the following two (02' items :

Let psin2 o +qcos2 o=m, qu;in2 ﬂ+p0052 B=n;

p#mmnand g#m, n
39. Which of the following is/are the factor(s)

of (3x+y)? +(3x+y)(x +5y) -20(x + 5y)*?

2
I @x+13y) 41. What is (ﬁ;) equal to?
II. (x+19y)
P (m-q)in-q)
(m- p)n-p)

Select the correct answer using the
code given below.

B _m-an-p)
(@) 1 only g
) ae o B0
= ) ==
(c) Both I and Il (m - p)in—p)
(d) Neither I nor Il @ (i’t_—q_)(ﬂ_—_P}
(m- p)in-q)

ANFB-T-EMT/45A 15 [BTO.



42. IR o T B TH F &, @ Frafafas § Frafafaa 2t (02) wwivi F fom .

FH-H1 T T R?
ifg $in® _ 4v2 _ cosa _ 243
e sinﬂb 3 acosﬂﬁ 9 L
(@ mn-1=0
(b) mn+1=0 45. tan? o foFaeh seR 37
() m+n=0 (@) 8
(b) 6
(d m-n=0
¢ 4
(d 3
F=afafaa 2 (02) wee F R .
46. tan?p forad suer 27
W?ﬁﬁ‘ﬂlcos&cansin8=pasece—c039=q3| (@ 1/42
43. (psin® + gcos0) FFud s 27 () 3/+2
(e 1/3
il (d 2/3
(b)) O
(0 1 Fefefaa 2 (02) wam F faw .
1+sin8_ 2
(@ 2 A g ~— =p+yp? +1%I
47. sec6 s auer 27
44. p2q?(p? +q2 + 3) o TR 27 (@ p
@ o ) Vp?+1
1
1 (c)
& p2+l
(c) 2
(@ —=

d 4 Vyp? +1

ANFB-T-EMT/45A 16



42. If o and B are complementary angles, For the following two (02) items :
then which one of the following is

correct? sino. _ 442 cosa. 243
Let —— = and = %
sinf 3 cosf 9
(@@ mn-1=0
() mn+1=0 45, What is tan? a equal to?
(@) 8
(c) m+n=0
(b) 6
(d} m-n=0 (C) 4
(@ 3

46. What is tan? B equal to?
For the following two (02) items :

(@) 1/-2
Let cosec® —sin® = p and secB —cosb =q. (b) 3/2
() 1/3
43. What is (psin® + gcos8) equal to? d 2/3
(@ -1
o I8 For the following two (02) items :
e 1 i
(c) fuk 1+sm9___p+ {p2+1.
cosb
(@ 2
47. What is secf equal to?
44. What is p2q2(p? +q> +3) equal to? (@ p

2
@ 0 (b) Jp +1

1
(c)
L p2+1
el 2
(d) —=
@ 4 p?+1

ANFB-T-EMT/45A 17 [ P.T.O.



Frfefaa &Y (02) st ¥ foe .

A AT sin® +cosb = p au secB';-'cosec8=q,
&l p# 121

49. pd q¥ T ey 7
(@ p=q(p?-1
(b) 2p=q(p? -1
() q=p*-1

(d) 2q=p(p?-)

50. tan6 +cot® % aweg 27

(a)

Q o

(b)

e

(c)

(@

SI¥ oy

ANFB-T-EMT/45A 18

51. 3 Wmfeal X @ Y #M: 100 km/hr 3

60 km/hr # 7fd ¥ w* € Rwn § nfwm §)
W Yy # 4 5w = B e x
9 4% & YR Feh B| Yot X H W
27

(a) 80m
(b) 100m
() 120m

({d) 150m

52. 3 Atk X 941 Y & & 90 W e wwm Py

M Q % e sw: galg 7:00 w9 aun yatg
7:10 95 f%emd 81 X, 4.8 km/hr 791 v,
6 km/hr #F 70 | wwar ¥ W P A 5
foreirfier it gt w X, Y& fem?

(@ 3 km
(b) 3-5 km
(c) 4 km

(d) 4-5km

53. X a1 Y 3 wHE ¥) X 1 I 7S 12%

TG ST R, TUET, 10% I S Ao
Y 1 9 UEA 10% Gl Sl ¥, qerq
12% 9™ S ) 3} W ¥ adum A
WAA®, @ X F Y F Ui Jadt 1 S
1 917

(@ 50: 53
(b) 51: 53
(¢ 121: 126

(d 121: 125



48. What is tan® equal to?

(@ p

(B) \p*+1

1

p2+1

(c)

et

pT

For the following two (02) items :

Let sinB+cos®=p and
where p# L

sec6 +cosecb = q,

49. What is the relation between p and g?

(@ p=q(p®-1
() 2p=q(p®-)
() g=p?*-1

d 2g9=p(p*-)

50. What is tan® +cotf equal to?

(a)

Q o

(b)

LS

(c)

(@)

S8 el
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51. Two trains X and Y are travelling in
the same direction at 100 km/hr and
60 km/hr respectively. Train X crosses
a man in train Y in 9 seconds. What is
the length of train X?

(a) 80m

(b) 100m
(c) 120m
(d 150m

52. Two persons X and Y leave place P for
place Q at 7:00 am. and 7:10 a.m.
respectively along the same path.
X walks at a speed of 4-8km/hr
and Y walks at a speed of 6 km/hr.
How many kilometres from place P will
X meet Y?

(a) 3 km
(b) 3:5 km
(c) 4 km
(d) 4:5 km

53. There are two employees X and Y. X’s
salary is first increased by 12% and
then decreased by 10%, and Y’s salary
is first increased by 10% and then
decreased by 12%. If their salaries at
present are equal, then what was the
ratio of initial salary of X to initial salary
of Y?

(@ 50: 53
(b} 51: 53

(c) 121: 126
(@ 121: 125

[ P.T.O.



54. Tl nfa & p =t &, Rl A x% T 9 fora 57. 3R g
T 81 g & Fael y% g 9 fora ww §)

2x?2 -5px+2p2 =0
Aigenatt # Fawt z% 9¢ 9 orw wFdt §) R

x, y>z &, q T & ge A e w2 1 TF Td, T A ¥ 4 A R, @ p# AR
(@ px-2)/(y-z) il

(b) ply-2z)/(x-z) (@) 8/3

(c) px/y (b) 4/3

(d) py/x c 2/3

(@ 1/3
55. X9 ydle (Cu) d S (Zn) H 3 fmergd
81 fwag X9, Cu 9 Zn A #9W: 5:4 %

39 A e dar R st R qun faserg L
Y, Cu 3 Zn F B 5:13 F o 58. T 10,000 #i TR 10% =wHafs o H arffs

A 3 7 ¥ forg off e B otk & 3
et dam e s 21 4R frgengst x = WA it Rewdt & s aeE g e

¥ 27

e (@ T 4,437
L (b) T4,237
et © T 4,021
(d 7:8 (d T 3,811

56. @ foensdi x 9 v et vhen 3§ 423 §) x 3 oim
Y% 3 ¥ 20 Al §) IR x F o, x 9 59. frmfafa smmaedt #1 eet =0 87

Y S F A F 75% &, @ X3 v 3w 5x+3<8x-9F 2x+20> 5x +2
1 ST 1 87
fa) 4<x<6
(@ 5:1
®) 4:1 b)) I<x<5
(¢ 3:1 ) x<3FMx>5
(@ 3:2

(d x<4J1x>6
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54. In a village consisting of p persons, x% 57. If one root of the equation
can read and write. Of the males, only

y% can read and write. Of the females, 2x2 - 5,er+2ch-2 =0
only z% can read and write. If x, y> 2,
. i .
then what is the number of males in the exceeds the other by 4, then what is the
village? value of p?
(@ plx-2)/ly-2) @ 8/3
(b) ply-2z)/(x-2)
(b) 4/3
(€ pxly
(¢ 2/3
(@ py/x
(@ 1/3
55. X and Y are two alloys of copper (Cu) and
zinc (Zn). Alloy X is prepared by mixing
Cu and Zn in the ratio 5: 4, and a.lloy Y 58. An amount of TI0,000 is borrowed at
is prepared by mixing Cu and Zn in 10% per annum on compound interest
the ratio 5:13 respectively. If equal for 3 i corfxpoundcd annually,
quantities of alloys X and Y are melted fmd paid bRCk' in 3 equal annual
to form a third alloy Z, then what is the installments during these years. What
ratio of Cu to Zn in Z? is the amount of each installment
(approximately)?
(@ 5:8
(a) T 4,437
b) 5:7
6 6:7 (b) T 4,237
(@ 7:8 () T 4,021
(d T 3,811
56. Two students X and Y appeared in a test.
The score of X is 20 more than that of Y.
If the score of X is 75% of the sum of the 59. What is the solution of the inequalities
scores of X and Y, then what is the ratio 5x+3<8x-9 and 2x+20> 5x+27?
of score of X to score of Y ?
4 <6
(@ 5:1 fa) 4 £
© 3:1 ) x<3orx>5
{d 8:2 ({d x<4orx>6
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60. UH THMGR Tt a%g W 10%, 20% 3 25%

I I AT G2 o 918 39 TE B B

63. ABC W& iy ¥, fme wwsw B 21 AB#

Heferg P ® Q91 BC &1 WAl Q R

Ted W 8% WM | =l ) 9 e vel g2 Frfaiaa w famm Hifte
% 918 a%g o+ arelt, A I Fohen @ e 8 A0~ /73 vk
(@) 20% . CP=52 N
(b) 40% B % dawa ¥ fufo % fow 3w 3 @
© 50% FH-G1/Q T 2/E7
@) R B o S
(b) Hae 11
(c) 19126

61. TH <fifsg AD fredt fisw ABC %1 vindeim &)
IR (AB+AC)=p, (AB-AC)=q adl
(BD-CD) =r &, @ BC fras aqen 27

(d) R i e i srravasa 3

(@ qr/p 64. o w1 6 T, e 9 I=r v Uit
21 AR g9 F1 e 336 W WE 2, @
(b) pr/q A1 61 F JEI & 1 27
(@) 288 T 3FTE
sl i (b) 292 a1 THE
(d p+q-r (c) 296 1 THE
(d) e TalH 7 B9 % wru Puifa T@
o < g #

62. Tl oia gu@R So # I=mé qun sah e
1 A 21 em & B, 3= @ w9 R AR
9 F THYB H HTFA 616 cm? B, q qel
1 3T 1 R? (n =22 /7 )

65. 14 cm = I fFeft 3w § APB ®te1 W %

491 P 39 WM H weAfag R W fif C
Sl AB %1 ®eAfag @ @ PC=7cm I

(@ 1078 cm?® Sitar AP &l weTg 94T 87
(b) 1617 cm3 (@ 3-5cm

() 1927 cm3 zj 17:: st

(d) 2156 cm? (d) 14 cm
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60. A shopkeeper gives three consecutive

discounts 10%, 20% and 25% after
which he sells the article at a profit of
8% on the cost price. Had he sold the
article after the first discount, how
much profit would he have got?

(a) 20%
(b) 40%
(c) 50%

(d) None of the above

61. Let AD be the altitude of a triangle ABC.

If (AB+AC)=p, (AB-AC)=q and
(BD - CD) =r, then what is BC equal to?

(@ qr/p
(b) pr/q
() palr

(d p+q-r

62. The sum of the height and the radius of a

right circular cylinder is 21 cm, and the
radius is less than the height. If the
curved surface area of the cylinder is
616 cm?, then what is the volume of

the cylinder? (Take n=22/7)

(@) 1078 cm?3
(b)) 1617 cm?3
(c) 1927 cm?®

(d) 2156 cm?®

ANFB-T-EMT/45A 23

63. ABC is a triangle right angled at B. P is

the midpoint of AB and Q is the mid-
point of BC. Consider the following :

1. AQ=+73 units
II. CP=+/52 units

Which of the above is/are required to
determine the area of the triangle?

(a) 1 only
(b) 1I only
(¢ BothIandII

(d) More information is needed

64. The length, breadth and height of a

cuboid are consecutive integers. If the
volume of the cuboid is 336 cubic units,
then what is the total surface area of the
cuboid?

(a) 288 square units
(b) 292 square units
(c) 296 square units

(d) Cannot be determined due to
insufficient data

65. In a circle of radius 14 cm, APB is a

shorter arc and P is the midpoint of the
arc. Let C be the midpoint of the chord
ABand PC = 7 cm. What is the length of
the chord AP?

(a) 3:5 cm
(b} 7 cm
f¢) 10-5 cm

(d) 14 cm

[P.T.O.



66. 10m 9 15 m 9% F 3 @Y WER 25 m &t

0 w R 1 v @ % i ) R @ ¥
A e areh Yl % whede fag B
F1s 7 B7

fa) 4-8 m
(b) Sm
(c) 6m
(d 64 m

67. ABC & fays ?, fom wiw B %) 9%

HfaRws, (AB+ BC) # wa AC ¥ 10 397
it 21 AR By #1 9Rum 60 3 &, @
e & Sawa w1 27

(@) 75 = TR
(b) 100 = gFTE
(c) 125 9 53

(d) 150 =1 3FE

68. 3 WA WER 24 m Hi g W @ § ok 3

S H 10 m W IR B| I v
1 g = R7

(a) 25 m
(b) 26 m
() 30 m

(d) ¥THs A 7 B & wru Puffa &
foran s W @
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69. uH <fifg freft st ABC ) sneit Be, ca

4 AB ¥ wafeg #w: X, Y Z ¥
fr=fafea sl w fmm Hifvg

I @S AZXY U Gai-=gy B

. =4S AZXY 1 &5%a fiys ABC ¥
SI6E I A R

394 FoE § A PH-E1/A T 2/E?
(@) Fad ]

(b) Ee I

(c) 19 II3M

(d ad1dRad 1

70. = o g Folt w e Hifvw

) A
I, 82
II. 6°

IV, 82

I # | o Fredh wegye & T ww @
T &7

(@) T
(b) A
c) =

(d) ufi =R



66. Two poles of heights 10 m and 15 m are 69. Let X, Y and Z be the midpoints of the

25 m apart. What is the height of the sides BC, CA and AB of a triangle ABC
point of intersection of the lines joining respectively. Consider the following
the tip of each pole to the foot of the statements :
other pole? :

I. The quadrilateral AZXY is a
(@ 4-8m parallelogram.

5 II. The area of the quadrilateral AZXY
b is half of the area of the triangle
) 6m ABC.

[d 6-4m Which of the statements given above
is/are correct?

! ; g (a) 1 only

67. ABC is a triangle right angled at B.
Furthc'r, (AB+ BC? exceeds AF? by (b) 11 only
10 units. If the perimeter of the triangle
is 60 units, then what is the area of the (c) Both I and II
triangle?

(d) Neither I nor II
(a) 75 square units

9} 100 eqatre: ugs 70. Consider the following angles :

(c) 125 square units 1. 4P

(d) 150 square units i .5
. 6°

68. Two poles are situated 24 m apart and v, 8

their heights differ by 10 m. What is the

distance between their tips? How many of the above can be the
exterior angle of a regular polygon?

(a 25 m
(@) One

(b)) 26 m
(b) Two

fcg 30 m
(c) Three

(d) Cannot be determined due to

insufficient data (d) Al four

ANFB-T-EMT/45A 25 8 % e



71. f&ft e ABC #, £A=30°, AB=7 cm 74. TF FV 0 I TF HIU 1 -k TH-hArg

#R AC=12cm R| Bigs ABC #1 &%« B =07 0 1 WH T B?
fopaa 87
(@ 12°
(@ 21 cm?
() 15°
(b)) 2143 cm?
(c) 18°
2
{c) 42 cm @ 20°

(d) 42J3 cm?

75. fft ﬁr‘aﬁl Eq| 'ﬂ'\ﬂT‘z 11cm, 60cm R

61 cm & B #t ywneii & weafagedt
72. ABC W fuW R, fwe wsm B }1 AC ™ ﬁamaﬁmﬁﬁgaﬁf:amw%?
w fog D39 ¥R @ % BD, AC ¥ weaq

213 AB= pa BC=/3p &, @ BD fra%

D (@ 165 cm?

() 3 (b) 110 cm?

(b) p/2 (c) 82-5cm?

(c) V3p/2 (d) 72.5 cm?

(d) J3p/4

76. TF Wie® 30° F FU SN T YA & a9l

73. T TR ¥ S 3 AT F F s TR R 55 cm TS F1 A9 S R e

120° ¥ | gy R e 6 wem w27 1 T FRY (n = 22/7 i)

@ 9 (@ 90 cm

(b) 10 (b) 100 cm

(e) 11 (c) 105 cm

(@ 12 (d) 110 cm
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71. In a triangle ABC, ZA=30°% AB=7 cm 74. An angle 06 is exactly one-fourth of its
and AC = 12 cm. What is the area of the complementary angle. What is the value

triangle ABC? of angle 6?
(@ 21 cm? (@ 12°
(b) 21V3 cm? G 4
() 42 cm? i
(d) 20°

(d) 4243 cm?

75. The sides of a triangle are 11 cm, 60 cm
and 61 cm. What is the area of the
triangle formed by joining the mid-
points of the sides of the triangle?

72. ABC is a triangle right angled at B.
D is a point on AC such that BD is
perpendicular to AC. If AB=p and
BC =+/3p, then what is BD equal to?

(@ 165 cm?
(@ p/3

(b) 110 cm?
(b) p/2
c
(d} Jgp/‘* {d) 72.5 cm2

73. The difference between an interior angle 76. A pendulum swings through an angle of

and an exterior angle of a regular
polygon is 120°% What is the number of
sides of the polygon?

(@) 9

(b) 10

€ 11

(d 12
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30° and its end describes an arc of
length 55 cm. What is the length of the
pendulum? (Take n =22 /7)

(a) 90 cm

(b) 100 cm

(c) 105 cm

(d 110 cm

[ P.T.O.



77. TF WEHR 99 H W6H0 60° B 1 IR IHIE™
el 100 m? ¥, A T F1 G 1 27

(@ 25042 3

(b)

(c)

(@)

79. Th AR TF wag Oyw F w9 F ¥, R

g% 36v3 cm? R AW W efgm #
gfafda foran smar 8, o Sah e =1 R7

(@) 2 cm
n

18
m+2

(b)

(c) = cm
T

(d) 394 § & Frd T

78. T e 3 g of T e 35 s

) % s ot 39 ¥ sifea
& a1 3% e ft T | iF B S b - i bl

gvE o1 1 A% x €1 AW o g

s, 6t B | T s 'Y g Y oo 9 9§ ifFa geem wva g9
F1 8% y B x 3R y F 9 1 day R7
(a1 10
(a) mx=2y
() 1:2
(b) 2nx=y
[c) 2 1 (c) mx=4y
d) 3:2 ({d) mnx =8y
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77. A conical tent has an angle of 60° at the
vertex. If the curved surface area is

100 m?, then what is the volume of

the tent?

@ BR2
) SO0 13
@ 199053 3
@ 10928 s

78. A right circular cone and a hemisphere
have equal base and equal volume.
What is the ratio of the height of the
cone to the radius of the hemisphere?

(@ 1:1

@) 1.::2

¢l 2:1

(d 3:2
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79. A wire is in the form of an equilateral

triangle with an area of 36V3 cm?. If it
is changed into a semicircle, then

what is its radius?

(a) 2 cm
n

18
n+2

(b)

¢ — cm

(d) None of the above

80. Let the area of the largest possible square

inscribed in a circle of unit radius be x.
Let the area of the largest possible circle
inscribed in a square of unit side length
be y. What is the relation between x
and y?

(@ mx=2y
(b) 2nx=y
(c) mx=4y
(d) mx =8y

[ P.T.O.



81. TF W fer e B, ek R @ weA 1 @R 10
fumu #) e iR FeE w fER Al

34 :

AFA F B, & x2"~y2"+1 el
x" +y* g Tl R s R, @l n
T THfreh @A 87

FY4-1

nﬁﬂﬂ%l

w11 :

n@q 2|

IRt W 3R el % Hed # Frafofea @ @
HH-91 Th Fe& 7

(a) 38 T F IW F HO H A TR o A
FFa IR W T s www R, g
TR FU F1 AH I W T e S
a1 &

(b) 3@ TF F IW A FUA H @ R w
ff et 3T e s Hwa @

(c) 3@ YE H IW IH FUA H THAY
Iy o T < e &, foieg 91 A W
fFft TH w1 Sk ST W AR
e <1 whan @

(d) @ 9H H IW F HFE A A B oA
Iy fu fomn oft R s wepan ®
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82. UH WeA feun &, o 9 R w1 R 1
R ¥ oA 3R wEl W famm Al

T .

T Wi G&A N 3R §@ M H R
252 2, 5@l M, N % i i faoda wm A
Teraa fafifa o sira1 @1 9@ N w0 7

SYA-] :

N+ M =33

SY-1I :

N>M

39 W R Fei ¥ Hed § Frafafaa A @
FH-T1 Th TEl 27

(@) 38 Y F IR F F 4 4 6l & w
Fa IgEm = e s gwa g, g
TE HYA T kel ITAM TG e S
kel B

(b) T8 IH F IR A FHE A A Rl W
off arFel IR I - wean B

(c) T™ TH F IW A FAA H CHAY
IR R R T wEa R, g aRi A R
frdl wH wYA F AHe ST F TE
Toan <1 b @

(d) T IE F IW A FA T A TR ow
3w fog fomn oft feen < e R



81. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

What is the remainder when
x2n . y2" + 1is divided by x" + y™*,
where n is a natural number?

Statement-] :

n is odd.

Statement-II :

n is even.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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82. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

The product of a natural number N
and the number M written by
the same digits of N in the
reverse order is 252. What is the
number N?

Statement-I :

N+ M=33

Statement-II :

N>M

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.



83 WUHR R TN R, REF e A FR 1 R I
fu o ) wem 3R wuE w faEw Hifv)

U

e (54D)'%° F war ¥ sifw 3% 1 2
3% D F1 7H H1 &7

$YI-I :

D>5

HY-11
D, 3 1 T W ¢8|

I J 3R el % wed # Freafafaa & @
FH-U1 T T R7

(a) T8 TE FH IW A FUE A A B w®
IFA I W R s g B, g
O YA T Ih) I K A e
a1 ®

(b) @ TE F IW aH FYA T § BrE w0
off el Iudm & e < Hehar @

() T YH F IW A HUE F THAY
I e s v &, Feg AT A @
Bt s F w1 AFa ST W T
femn <1 weban B

(d) F@ 9F H IR T wE A ¥ Bl o
3w frg famn oft R s wepan @
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84, UH W fom man R, Forwsh W@ wuA 1 3R 1
fu e ) v 3R FuE W fEw Al

U3 .

B ABC® A= /B- ZCRI TN FW A
A

Y- :

ABC @& sftmanrft s 78 21

HYA-II ¢
H C A B

I W 3R FeEt & He A Frafafaa 7 &
FH-T1 TF GE 77

(@) T8 T &1 IWHA HA A W el &
FFpa I@Em W s v R, B
A FF F IS I H A @ s
el &

(b) @ WH F IW A HYA F G Tl w
off st 39 = e s wehan R

(c) 3@ WA & IW IA FA FH THAA
IqEm R e s wwa @, g A A @
e FUR F ThA IWM WA
o < weben B

(d) T 99 H W F FuE A ¥ Bl oW
Iqan Ty famm oft R s wavan 2



83. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

The last digit in the expansion of
the number (54D)'%° is 1. What is

the value of the digit D?

Statement-] :

5

Statement-II :

D is a multiple of 3.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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84. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

In a triangle ABC, ZA=/B- ZC.
Is angle A acute?

Statement-] :

ABC is not an obtuse-angled
triangle.

Statement-II :

Angle C is acute.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.



85. U% W R T R, forwd W R w1 R 1
fou mu 8| w3l wEl W fER A

09 :

w fqe ABc #, fwd B W R,
AC =20 cm %\ fiys it aifrsn =0 @7

S

AB=12 cm

HYA-II ¢

BC=16 cm

mﬂﬁmmm%éﬂﬁﬁnﬁlﬁaﬁﬂ
FH-91 T T8 27

(@) T4 T F IWH FA A A Rl W
A IEm W e w1 v R, g
TR HYA H A IFAM G e W
el 8

(b) 3@ TE H W A A A | B w
off kel JuAm S R = wa R

() 3 I H IW A FUA B THEH
IR B s aEa ¢, FFg R A @
rft TH FUA B FFQ IR F AR
e < Hepan B

(d) 3@ YE F IW T FA A A R F
Iy TR famn oft T < wehan R
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86. % S T mn R, R 9@ A FAA 1 IR
fou mu ¥ W 3wl W fEm A

T

ABCD TUF uwiw-ugyw B, fwed
ZABC = 60° ¥ | 4t Goict-=gis &1 &ahet
743 a1 gigal €, @ wHiR-ags F afem
w1 87

HYA-1 :

st AB 3R DA H dargal v weAd
2

$Y94-11 :

el ) vl ks e €, S 6
% 1 3% A AUF R

o W 3R Ferl % wed # Frforfea # |
FH-T T GE RY

(@) @I F IW A FA A A B wE A
aha s W e w1 wwa R, B
TR FY F I IFAM F A e
a1 B

(b) @ TE B IW A wA A A TR
oft et 3w = g =1 v @

() T@ FH 1 IW IE FA F A
I R R <1 wwhar &, Frg A A A
frfl ©F FUR H ITh ITT HF AR
fean < wean @

(d) 3| YA F IWF FE A A B ow
3um fu fomn oft R < waen 2



85. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

In a triangle ABC right angled at B,
AC=20cm. What is the circum-
radius of the triangle?

Statement-I :

AB=12 cm

Statement-II :

BC=16 cm

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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86. A Question is given followed by two

Statements I and II. Consider the

Question and the Statements.

Question :

ABCD is a parallelogram with
ZABC=60° If the area of the
parallelogram is 7+/3 square units,
then what is the perimeter of the

parallelogram?
Statement-I :

The lengths of the sides ABand DA
are prime numbers.

Statement-II :

The lengths of the sides are natural
numbers each greater than 1 unit,

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.
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87. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

AB and CD are chords of a circle
intersecting at P. If APxPB
=48 square units, then what is
CP x PD equal to?

Statement-I :

AP = 8 units

Statement-II :

CP = 10 units

Which one of the following is correct in

respect of the above Question and 1:11::i

Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

{¢) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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88. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

In a quadrilateral ABCD, AB
= 6 units, BC = 18 units, CD
=6 units, DA =9 units. What is
the length of diagonal BD?

Statement-I :

The length of BD is an integer
greater than 13.

Statement-II :

The length of BD is an even integer.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[P.T.O.
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89. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

ABC is an isosceles triangle with
AB= AC= 10 units. If the area of
the triangle is 48 square units,
then what is the length of the
base BC?

Statement-I :

The length of BCis an even integer.

Statement-II :

The height of the triangle is greater
than the length of half of the base.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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90. A Question is given followed by two

Statements 1 and II. Consider the
Question and the Statements.

Question :

The diagonals of a rhombus ABCD
are in the ratio 5:12. Is one of
the diagonals equal to side of the
rhombus?

Statement-I :

The sum of the diagonals = 34 cm.

Statement-II :

The length of a side = 13 cm.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.
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91. Which measure of central tendency is 94, The arithmetic mean of 200 observations

least affected by the presence of extreme is 60. If 5 is multiplied to each
observations in the data? observation, then what will be the new
i i ?
(a) Arithmetic mean £ Smatic futem
(b)) Harmonic mean (@ 500
(c) Geometric mean
(b) 300
(d) Median
(c) 60

92. To find the average ratio like price/unit,
work done/hour, kilometre/hour under (d) 40
certain conditions, the suitable measure
of central tendency applicable is
(@) arithmetic mean 95. A distribution consists of 3 components
(b) geometric mean with frequencics 45, 40 and 55 having
their means 2, 2-5 and 2 respectively.

(¢) harmonic mean What is the mean of the combined

(d) mode distribution?
93. The frequency distribution of marks (@) 2-14
of 100 candidates in a particular
examination is as follows : (b) 2-25
Marks Number of Candidates (c) 2-37
More than 10 100
(d 2-50
More than 20 75
More than 30 60
More than 40 40 96. Which one of the following is a positional
average?
What are the average marks of the
candidates? (a) Arithmetic mean
(@) 20-5 (b) Median
(b) 22-5
(c) Mode
(c) 30-5
(d 32-5 (d) Geometric mean
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0-5 & % 20 ¥ 4 30
5-10 4 b 30 4 A 30+k
10-15 11 40 40 | A 48 +k
15-20 52 50 50 ¥ F4 55+ k
20-25 75 30

25-30 22 28

99, k &1 HH F1 27

97. u F HH 1 87 (@) 20
(@ 1 (b) 22
2 () 25
g (d) 30
(@ 4

100. 29 &1 91y 7 87
98. v F TH T &7

(@ 21-625
(@ 5
b) 6 (b) 22.225
fc 7 (c) 23-225
(@ 8 (d) 24625
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For the following two (02) items : For the following two (02) items :

The following data represent the distance Consider the following distribution’ having
covered (in metres) by two groups of athletic median value 24 :

children. It is known that the median distance

in the first group is 20- 8 metres while the mean Al N
distance in the second group is 17-3 metres. o,  siven e
Some frequencies in both the groups are Less thati 10 5
missing :
Less than 20 30
Distance Class| First Group | Second Group Less than 30 30+k
0-5 u 3u Less than 40 48 +k
5-10 v 2v Less than 50 55+k
10-15 11 40
15-20 52 50
99. What is the value of k?
20-25 75 30
25-30 22 28 (a) 20
(b) 22
97. What is the value of u?
@ 1 (c) 25
(b) 2 . (@ 30
() 3
(d 4 .
100. What is the mean of the distribution?
98. What is the value of v? (@) 21-625
(@ 5
(b) 22-225
(b) 6
23-225
© 7 (c)
(d 8 (d) 24-625
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